
For further information contact KAON on 07 3180 1470 or info@kaon.com.au

F I T T I N G  I N S T R U C T I O N S  F O R

Light Cargo Barrier 
S K U C O M P A T I B I L I T Y

KS0020 Toyota LandCruiser LC76

Included contents
Q T Y C O M P O N E N T Q T Y C O M P O N E N T

1 Light Cargo Barrier 2 M6 X 18 X 1.6 DIN Flat Washer

2 Head Rest Bracket 2 M10 x 20 Button Head Socket Screw

2 Mounting Bracket (LHS & RHS)	 2 M10 x 30 x 2.5 DIN Flat Washer

2 Barrier Bracket (LHS & RHS) 2 M10 x 20 Black Plastic Knob

6 M6 x 16 Flanged  Hex Bolt G8.8

30 minutes / Half a beerTime



22

YES YES

YES

Install the Molle Panel  
as per it’s instructions. 

Now’s the time to mount 
any additional accessories 

to the Molle as well. 

Follow the Shelf  
fitting guide. Complete 

 the Shelf & Molle install. 

Are you installing a  
Side Molle Panel?

It all works together.
All our storage products work together, but there is a certain order to installing.  
Let’s work out the best order for your setup, shall we?

Are you installing other 
KAON Storage Products?

Are you installing other 
KAON Storage Products?

Complete the Molle Panel  
as per it’s instructions. That’s it, you’re done! 

NO NO

NO Are you installing a  
Standalone Shelf?



3

With your setup order sorted, let’s get to the good part: installing.

YES

It all works together.
All our storage products work together, but there is a certain order to installing.  
Let’s work out the best order for your setup, shall we?

With the foundation in 
place, it’s time to mount 
any other accessories, 

such as a Cargo Divider, 
Travel Buddy, etc. Have 
fun making it your own.

That’s it, you’re done! 

NO

NO Are you installing a  
Light Cargo Barrier?

YES

Are you installing other 
KAON Storage Products?

The last piece of the 
puzzle, complete your 
install by following the 

Light Cargo Barrier  
fitting guide. 

YES



4

Let’s get to work. 

Preparing the Vehicle
1.	 Our mounting brackets affix to two 

points, the first of which is under 
the plastic cap, above the third 
window, just behind the C pillar. 
Pry this cap off using a knife or 
screwdriver.

2.	 Our second mounting point is a 
captive nut hidden under the  
roof lining, and so it isn’t visible.  
To locate it, take your mounting 
bracket, and secur it using an M6 
bolt in the hole under the cap you  
just removed.

3.	 Running your hand along the lining 
towards the front of the car, you 
should be able to feel the second 
hole as a small depression under 
the lining. Move the bracket  
into position, and ensuring it’s 
straight, use a screwdriver  
to poke a hole through the  
lining into the depression.

2

3

This barrier has not been tested to Australian Standards,  
and is intended as a pet barrier or for use when off-road.N O T I C E



5

Bracket Installation
4.	 If you’re installing the Light Cargo 

Barrier on it’s own:  Following on 
from step 3, slip an M6 bolt through 
the hole made in the lining and 
tighten to hold the bracket in place. 
Repeat on the other side. 
 

If you’re installing with Side Molle 
Panels: this rear interior storage 
product will need to be installed 
first. Follow the installation order  
in the flowchart on page 2  
before proceeding.   
 
If you’re installing with a 
Standalone Shelf:  You will notice 
that the mounting brackets for the 
shelf include a nutsert mounting 
point for the cargo barrier, as 
pictured. Due to this, this bracket 
will need to be installed prior to the 
cargo barrier. Follow the installation  
order in the flowchart on page 2  
before proceeding.   
 
Please note: If you have an older 
version of the shelf that does not 
include a mounting point, simply 
proceed with the Cargo Barrier 
instructions until completion.  
After this, install the Standalone 
shelf, layering the mounting 
brackets for this product on top  
of the cargo barrier’s. 

4

4

STANDALONE SHELF 
MOUNTING BRACKET



6

Assembling the Barrier
5.	 Attach the barrier brackets to the 

barrier using the supplied M6 bolts 
and washers.

5



7

6

8

9

Installing the Barrier 
6.	 Remove the head rests and 

slide on the head rest brackets.  
Re-install the head rests with 
brackets in place.

7.	 Position the main barrier against 
the head rests. The flanged edge 
on the barrier should be directed 
forwards, and the warning stickers 
should be visible from the rear  
of the vehicle. 

8.	 Loosely secure it to the head rest 
brackets using the M10 domed head 
bolts and M10 washer. 

9.	 Attach the barrier bracket to the 
mounting bracket nutsert using  
the M10 knob. You can adjust  
the position of the barrier by  
selecting the most suitable hole  
in the barrier bracket. 

10.	Once the barrier is in the desired 
position, tighten all bolts and 
knobs securely.

11.	That’s it, you’re done!  
The barrier can be quickly removed 
by removing the plastic knobs and 
lifting out the head rests. 
 
Please note: If you have the older 
version of the Standalone Shelf 
that you are installing in conjuction 
with the cargo barrier, you may now 
complete the install of that product 
as per it’s instructions.



8

Disclaimer: The products sold by KAON should not be modified, and are for use only on the vehicles specifically stated. KAON will not be 
liable for any damages arising out of the use or misuse of it’s products. It is the customers responsibility to ensure the products are safely 
and properly used and installed. KAON consistently seeks to improve it’s products and reserves the right to make changes to any product. 

Local Knowledge & Assistance 
We know half the fun of building your dream 4x4 is getting your hands 
dirty. But we also know that sometimes, things don’t go to plan. If in the 
pursuit to build the ultimate setup you find yourself off-track, we’re here 
to help you get unstuck. 

For further information call 07 3180 1470 or email info@kaon.com.au


